Worksheet 4.1
Newton’s 2™ Law

1) For each of the following diagrams determine the magnitude and direction of the net force.

pe _ Fy=100 N T=4
(k=N § B T- Bl ‘@|m= Fowr- s |
Fe=20N Fapp = 20 N = FooN- 10N Ff=<75N Fapp = 250 N
4 CM 250-
o I?S/U f')'jh"’
Ve -100N Ve - 150N V 600 N
‘};(=150N AF=200 N% AFn=200N
= 60/04_ Faro = 60 N FappFlE)N"ﬂ%s/N 55N lef
f‘vlz\, - app = Fi=80N . ¢ . - |e ‘[-
Fapp7 60N
v;g/= 150 N Ve 200N Ve =200N
2) Use the information given for each diagram to fill in all missing blanks E—"} E F _ 4
M: 'B”’ FPAFN=3¢K)N FN=_l_l%/l/ -:%40”:;0 Fy=_2 "¢/ 3612 4}- I,:T
- SoN 4‘? - m= ==
-+ = leow | _ ng
Fr=20N Fapp= 70 N Fr=20N Fa,,p=20N Fr=80N Fapp = 240 N4 15"
< > < < - 407
wt = Ma h N
ek = SDN H i UZ?(‘I[O) ._E:M
/l". U =240)7(7-80)
a1 Ve _3on Ve - LISN Ve - 300
—;w"‘l’zm=5kg m=12kg m = 4’0
a=_ 10 mys? a=_ O  mys? a=4m/s rigit
A
- ma v= 3420/ Fu =500 N
R»J'-‘- B/’T] "FN 160 N Flw )0 4 N
= (90/1/ Sp— anlle
=(0-H
- §20/ )7 F= f{ﬂ/\/ Fapp=200N’ F=125N| e E; Soo
S , ik B7)
(x @.49) =S
hot =i ! @: . (46 (1.1) T =
o= F% Ve BN Bh=Tp- Fr Ve 3420 ¥e,- 500/
= %/:m=8kg P}: F‘W’ F*"Ff}=40kg m=_lf15l
a=_0  mys? =700~ 160 a=4am/s?right a=2-45 m/s’ o sy
. 1 - g
= 10 mls = 40N fm{,, ez =3,



